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14 A solution contains 0.03 mol dm= Fe?* and 0.02 mol dm™ Ag* at 25 °C. The Fe** and Ag®
can be separated by slowly adding NaCO, solid. The numerical value of the solubility
product of FeCO, at 25 °C is 2.1 x 10-'" and that of Ag.CO; is 8.1 x 10~

At which point would the concentration of Fe** in the solution be half that of its original
concentration?

B after the first trace of Ag,CO, and before the first trace of FeCO,
C  atthefirst trace of FeCO,

Agdz

[Fe*7in the solution = 0.5 x 0.03 = 0.015 mol dm™®
i.e. half of the iron carbonate has been precipitated, hence first trace of iron carbonate is seen.

Ksp = [Fe™] [CO”]
[CO:*] = Kyp [Fe*] = (2.1 X 107)0.015 = 1.4 x 107 mol dm*

lonic product of silver carbonate = [Ag'F [CO5

(0.02 (1.4 x 10°)

=56x107 <K, (8.1x107)
Hence, no precipitate of silver carbonate is formed.





